Vaje za 3. letnik
Logaritemske enačbe
december 2008


Logaritemske enačbe – vaje
Reši naslednje enačbe:
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Rešitve:
1. a) 81, b) //, c) 1/25, d) 3, e) 1/2, f) 4, g) 1/27, h) 8; 2. a) 5, b) 1/4, c) 2, d) 125, e) //, f) vsa pozitivna realna števila (neskončno rešitev), g) //, h) 25, i) 8; 3. a) 4, b) 1/2, c) -2, d) -1/2, e) -3/2; 4. a) 3 (-2 ni rešitev!), b) 3 (-1 ni rešitev), c) 2 (-3 ni rešitev), d) -1 (4 ni rešitev), e) -3; 5. a) //, b) 2, c) // (niti 1- niti -2 nista rešitvi), d) -1, (-8/3 ni rešitev);
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